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: Reasoning part 1 : Reasoning part 2
! o} | Tom and Keira look at Beth’s map. (see
| Beth draws a map NP | previous reasoning question)
i of her town. 7t i
i What is at these le *® I Tom says ‘ The cinema is at (8,2)’
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} a) 33) b)(64) @ py | Keira says ‘No, the park is at (8,2)’
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| Describe the position 5 | The diagram shows x
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| marked 9“ th? grid. a3 dA TH T 46 | The co-ordinates of /
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| Ais the point (O, -10) i |
| Bis the point (8, 0) [ C !
| The distance from A !
I to B is two thirds of !
: the distance from A g I
I to C. I
I Find the coordinates I
: of C. |
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